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=50 883,748 907,338 23,590
=50 A (LD TN/ UBEE) 698,656 729,981 31,325
=50 22 295,776 226,331 69,395
ZArRE2] 38,100 18,100 20,000
201 2ereg| 8,100 8,100 0
02 2329 8,100 8,100 0
OWLHE)| & &H| SR L4H]
200,0002 +8LH 1,600
OAE FAl2elt| 1,500,00024+14) 1,500
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—F0PHs EXXHFIIKSR)
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401 A& H LS 0 10,000 10,000
01 Al&H 10,000 10,000 0
OHAF 25 =9 SAFHIAG (AL FF S)
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405 RHAHE S| 20,000 0 20,000
01 AL ZSEZSH 20,000 20,000
OFAF 3124 DUHYSEI 2 L &
20,000,00024* 14! 20,000
SAEA 22 10,278 10,204 74
101 Q1244 6,322 6,188 134
04 JIZHRIZERIEE % 6,322 6,188 134
OstHIA ol 78,880 211 2x70 5,522
OBIHHS 22Kt AUEE
800,000 %14 800
206 2| 2,916 2,976 60
01 XH2H| 2,916 2,976 60
OstHL e RF0 2,616
-3 1,72024%300 £ 516
—SHAR 3,50021%600 £ 2,100
OMEEE 28 Il 2
5,000 +55* 12 300
307 9I2H01A 1,040 1,040 0
01 o2 2 3=y 1,040 1,040 0
OgZel 23| 15,0002 +3&* 122 540
OBOAIZ X &2t 500,0002 172 500
Hots Xz 55,080 48,000 7,080
201 LBt2Y| 55,080 48,000 7,080
02 2229 55,080 48,000 7,080
ONRE, BOIS M2
7,0002+5105+12& 42,840
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NI =30 A (LEISIHY/LLE)
ol =89 2l CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OJRE, ot 22l|
60,0002 *510S*40/ 100 12,240
SrHEZ CCTV S22 3,200 3,344 A144
201 L2 3,200 3,344 A144
02 222 3,200 3,344 A144
OCCTV MI|Ie2 5,000 *40CH* 12 2,400
OCCTV = Xl&te(dl 50,000 %40CH*40/ 100 800
2EDGIALY 58,594 41,409 17,185
101 Q124 30,918 20,473 10,445
M IIHR22IEES 30,918 20,473 10,445
OZ1S FHl L Xl JY| 12
78,880 x4 x2 2 %43 2,525
OF2 T2 L HIZA SAZ2 ZH|D| 1R
78,8802 152 x22+535] 11,832
OREX & =4 L 22| o2
78,8802% 102 x22*33] 4,733
O3 = 3™y oY
78,8802 x32x22x43] 1,8%4
O=2 ZE51EA L ALY SAXNY 2
9,934
—Jl=z 9,8602*3A| 2Hx 12 %2402 7,100
—F5=E 9,8602R%3A|2hx 1 *502 1,479
—AXRSEI 2
9,860R%3A[2bx 12 %122 355
—4U28s 1,000,000 %1 1,000
201 L2 A 10,800 4,000 6,800
01 AFR22IHI 5,200 4,000 1,200
OUIFDI ==2lbl 50,000 %3CH*23] 300
OJt2I| A Il X
50,0002%103] 500
OREX & =4 Y| A2 3,200
—=41 550,000 *4CH 2,200
—E2F 500, 0002 *2CH 1,000
022 B=5&A HoRE S 7Y
100,000 % 12 1,200
02 2229 5,600 0 5,600
022 BE3FA SXE4H|
2,000,000 1JH 2 2,000
02 2E3EA M3
200,000+ 12 2,400
O=22 SZ3FA Mot Q3
100,000 % 12 1,200
206 XHEH| 6,876 6,936 260
01 XH2H] 6,876 6,936 260
OuFD| glers 2 1,7202%300 £ 516
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OREX & =4 424 22 7 6,260
—&Hl ¥ Iz 5,000 100 L *23] 1,000
—H=ol 2l 2 10,0002+ =433 60
—&HYs7 10,0002 x55*43] 200
= 10,00021%500 £ 5,000
401 Al&HI L2 0HH 10,000 10,000
01 Al&H] 10,000 10,000 0
OZ2I0INAE T28 Jt24 MH(3HA)
50,0002/ %2003= 10,000
=20 =UIHH 2 5,300 5,300 0
201 L2 A 5,300 5,300
01 AFR22IHI 2,400 2,400 0
OFQURRIME ADE Q) S
200,000 %12 2,400
02 2229 2,900 2,900 0
OJIIRZ, YRR =
200,000 128 2,400
OAIE&EHl |SXI 22l 500,000 %14l 500
ZOIXHR| J1gr st 125,204 100,024 25,200
204 Z 24| 2,400 2,400 0
02 SHALHHI 2,400 2,400 0
ONREYSRH 100, 0002 x> T« 122 2,400
301 YB3 122,824 97,624 25,200
07 S& - 0|% - SR ESEAZ 117,640 92,440 25,200
OO0 &% 109,440
== 400,000+ 18 * 122 86,400
—d0= 400,000 * 182200/ 100 14,400
—3|o At
20,0002+ 182+ 12223 8,640
OpHa4gt 50,0008 %56 2,800
OO0 - S& SAHl X2
25,0002 %182 122 5,400
11 BAFAIHIXI 2 5,184 5,184 0
O2lgsiot £9| S F|o&AT 34
8,000 *54% 12 5,184
ARD FOIHIAIY 402,880 503,600 A100,720
ARD FOIHOIANY 402,880 503,600 A100,720
401 AlEHI L2 0HH 402,880 503,600 A100,720
01 Al&H] 400,000 500,000 100,000
OARL Z=RIHOIAIY 400,000
—=59 EiE12 =2 FHIZBA
200, 0002 *150m 30,000
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el ARS FRIEAAY (cro): =2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—ZE0 a0l 5% & tie= S0
250, 0003 *60m 15,000
— 201 EJE32| ASEHIZA
300,00024+50m 15,000
—&20 NS12l R ZHITA
100, 00024%200m 20,000
—&20 NS22| HAR ZUITA
100, 0002 *150m 15,000
—&20 NE%R| 52 HHIZA
200,00024 150m 30,000
—&201 4W12| AEHIZA
300,00024+50m 15,000
—&20 MW22| YR ZUITA
100, 0002 *300m 30,000
—&20 SU1Rl 52 BHIZA
200,00024100m 20,000
—+20 U2l 2 BHIZA
200,00024 150m 30,000
—&201 SU3RI 4R ZUITA
100, 0002 *150m 15,000
—&20 WE12] t4R ZUITA
100, 00024%200m 20,000
—&E0 4322) ABITHIZA
300,00024+50m 15,000
—&20 H12| HR ZUITA
100, 0002 *300m 30,000
—&20 H702| 52 HHIZA
200,00024 150m 30,000
—S20 IE12I R ZHITA
100, 00024%200m 20,000
— &S00 HIE22| AIIEHIZAL
300,000 *100m 30,000
—&20 B B4R ZUIZA
100, 00024%200m 20,000
03 AIZSR0Hd| 2,880 3,600 AT20
OARD ZUBAAY ALY
2,880,002 14] 2,880
#H2SZI(=22) OIEHIIEN 185,092 177,357 7,73
IR 2| 68,458 67,315 1,143
QI 23| 68,458 67,315 1,143
101 @I244| 68,458 67,315 1,143
01 = 68,458 67,315 1,143
OAlZIIZS 2
11,3192 142 *36 A1 2H+ 128 68,458
JI=3] 116,634 10,042 6,592
o= 116,634 110,042 6,592
201 Ler2 S| 53,634 48,842 4,792
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SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
01 AFR22IHI 36, 150 33,690 2,460
O=AEX 2 20,0002 %158+ Ax 122 3,600
OS201Al| 8,000 *5A1x 152+ 122 7,200
Ogetrz2 100,000 * 122 1,200
OAA2 TAZLLI 50,000 %122 600
OARL 24 7,200
—=AD| Sel(AF) 500,0002*1CH 500
—Z2if g 100, 0002 *4CH*50/100 200
—=SADI EH 200,0002%53]+1CH 1,000
—T2IE EL(SH)
200,000 %53 x4CH 4,000
—TRIE EU(Z)
200,000 %33+ 1CH 600
—PC =l 100,000 % 15CH*20/100 300
—JIEt ==cldl 50,000 %122 600
OJ|EF AFR22IH] 10,000+ 153 * 122 1,800
oY - ==y 14,550
-2 60,0002 % 1Z* 119 7,140
—=5 30,0002% 12247 7,410
02 222 17,484 15,152 2,332
O2222 < HMAl 17,484
—RERS 150,000 % 12 1,800
—FHEE ASE 15,000 %122 180
—&IIQE(HA) 1,000,000 * 122 12,000
—MI|QS(Hslne, 252
154,0002 %128 1,848
—ABIETRB(FA, 22
88,0002 * 128 1,056
—&D| OHMZAL =2
300,00084%23] 600
202 OiH| 50,400 48,600 1,800
01 2LH0IH 50,400 48,600 1,800
O2tLiodbl 20,0002 %15 * 12«22 43,200
OZ2l04H| 120,000 * 1584 +42 7,200
203 2= 10,200 10,200
01 J| 22 ARSI 6,600 6,600
OHZE J|H2FAREXIH|
6,600,000 1% 6,600
02 HADIA LRI 600 600 0
OZJIMMHRFA| 40,000 %153 600
04 ENSHAREZAI 3,000 3,000 0
ORNSZHRFEH| 250,000 % 12 3,000
204 Z 24 AHH| 2,400 2,400 0
01 ZHUZ AP LA 2,400 2,400
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